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1 [bookmark: OLE_LINK1][bookmark: OLE_LINK2][bookmark: OLE_LINK132][bookmark: OLE_LINK133]Introduction
[bookmark: _Ref516345544]In last meeting, some progress are made for SCell activation delay if there is at least one active serving cell on that FR2 band. But for if there is no active serving cell in the FR2 band, the requirement is incomplete.  In this paper, we further discuss the SCell activation delay in FR2. 
2 SCell delay requirement in FR2
 (
SCell activation delay T
activation_time
 in FR2, if the SCell being activated belongs to FR2, and there is at least one active serving cell on that FR2 band
T
activation_time
 = [3ms+T
SMTC_SCell
 +2ms]
I
ntra-band cells in FR2, 
UE only assumes that one Rx beam can be used for the reception of the beams of SSB on the serving cells.
Otherwise the UE behavior will be undefined.
)In last meeting, the following agreement is made for the SCell activation delay in FR2: 

It assumes UE can apply one RX beam to receive similar power level of serving cells, as addressed in the sub-bullet. Therefore, it should FFS on how to capture the condition in the specification.
[bookmark: _Ref528854344]Proposal 1:  FFS on how to ensure that one RX beam can be used for the reception of serving cells. 

For the case if there is no active serving cell on that FR2 band, it assumes N=8 for RX beam sweeping, 2 SSB samples for AGC per RX beam, 1 SSB sample for cell search per RX beam, and one SSB sample for fine sync without RX beam sweeping. And for AGC it should be based on TSMTC,max, so we propose: 
[bookmark: _Ref521332552]Proposal 2: If the SCell being activated belongs to FR2, and there is no active serving cell on that FR2 band, then Tactivation_time is [3ms+ 16*TSMTC,max + 9*TSMTC + 2ms].

3 [bookmark: _GoBack]Conclusion
In the contribution, we discuss the SCell activation delay in FR2. We have the following observations and proposals:
Proposal 1:  FFS on how to ensure that one RX beam can be used for the reception of serving cells.
Proposal 2: If the SCell being activated belongs to FR2, and there is no active serving cell on that FR2 band, then Tactivation_time is [3ms+ 16*TSMTC,max + 9*TSMTC + 2ms].
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